-

Total No. of Pages ; 8

EE201 Roll No.: cevuvuvenernnninnnnnn
{
2016
BASIC ELECTRONICS
PART-
4
Prefier wwm . Vs iy | (s s 30 |

Time allowed : V2 Hour] (Maximum Marks : 30 ‘

;T (i) m#marﬁar#a‘wmmlafarw?;

Note : All Questions are compulsory and each question is of I mark. :
(i) ﬁwﬁﬁwﬁ##ﬁwﬁ##ﬁa}wﬁwa‘f | |
- Only English version is valid in case of difference in both the languages.
L ot ury erwrm @7 frorer S & 1. The ripple factor of full wave rectifier s
(@ 1.21 (@) 121
(b) 048 (b) 0.48
() 121 (©) 121
(d) 4.8 (d) 438
2. o yRy Yewre w) ZoqeT & - 2. Efficiency of half wave rectifier is
(@) 40.6% (a) 4‘1)-6%
®) 81.2% (b) 8 .Z%q
© 50.01% (c) 50.01%
d 80.2% (d) 80.2%
3. Proffes soierr e ddsng 3. Which of the following amplifier
' girer TR g — configuration yields the largest power
& BT &9 5 T gain of all transistor amplifier
'ﬁi‘rr ' configurations ?
(@) ail {3 (a) Common base
(b) = wfrex (b) Common emitter
(c) W Foiwer (¢) Common collector
(d) Ui st (d) Emitter follower
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4,

TR SR TOeiee o %
W ¥ @ue e wen ¥ eRm
AP =1F w7 F =1 e &

(a) de= Y Barkhausen F@Ig}
(b) We =i L Pakinson
(c) iR it THRTEE
@ I wd

™ Wy AT % aw W ofme

wEET ¥ e vew sEegy wen
() FRRX

®) W= (Co

© s (Rg)

d) IR

Wi TR Fa A
(@) IR srH
() I
(c) ¥R 3R Tw |
(@) IR IR ww i givreT

frofafan foorg =t aoFT =9/
w9 § i e s ¥

(a) T TR
(b) ®wIW

(c) i ol
(d) T At

e & @ #F 959 oot @ faf
A I &7

(a) JFET

(b) BIT

(¢) MOSFET

(d) Triode

@

2038

When positive feedback amplifier is
used as oscillators, the condition
AP =1is known as

(a) Barkhausen
oscillation

(b) Pakinson criterion of oscillation
(¢) Positive criterion of oscillation
(d) None of these

criterion of

In a resistance load, RC coupled
amplifier the dc component is
blocked by

(a) Transistor
® Cc
(©) Ry

@ R

Two main parts of a tank circuit are
(a) RandC

(b) LandC

(¢c) RandL

(d) R and a Non-transistor

Which of the following configuration
is normally used as cascading ?

(a) Common emitter
(b) Common base

(¢) Common collector
(d) All of these

Which of the following is the fastest
switching devices ?

(a) JFET

(b) BIT

(c) MOSFET
(d) Triode
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9. BIT® q@ T4 FET & 1 oq &2
() 3T YT wiga™
(b) +FHER

10.

11.

12.

13.

(c) =9 ura Fefagw sm
(d) ¥|H o i sueew

|% (CE) Treftera? § Re W 508 &
(a) e wifey o gfg
(b) wrr ey | gy
(c) ares s § Fwy
(d) 9Tty g

feyar zifrer ww Frafm
fama Fwr d v FET _ Fraifi
feamw & |

(a) W, Aieew

(b) HRT, 4wy

(c) drees, U

(d) diees, est

gﬁ?ﬁ%(CE)%wmgﬁmqmﬁw

(1) FE AR MRE =T ¥ 99
1% T uftadT 7 gt |

(b) FYZ AR SMIZYZ R % ey 180
T IR i &

() ¥ 3R a3eye un ¥ oy 1%
=ROT URE 781 & |

(d) w48 =g

U WHAIGET H o et % Em
e =T R

(@) A/l +BA)
(b) B/(L+BA)
(©)  BA1-BA)
(d) A/(1-BA)

10.

1.

12.

13.

2038
What is the advantage of FET in
comparison to BJT ?
(@) High input impedance
{b) Low noise
(c) High gain bandwidth product
(d) Its current controlled behaviour
The effect of introducing Re in the
CE amplifier is to
(a) increase the voltage gain
(b) increase the current gain
(c) decrease the voltage gain
(d) decrease the current gain

A bipolar transistor is a
controlled device where as a FET is a
controlled device.

(a) current, voltage
(b) current, current
(¢) voltage, current
(d) voltage, voltage

In a CE configuration transistor
amplifier, there is

(a) No phase change between input
and output voltage

(b) 180 phase change between input
and output current

(c) No phase change between input
and output current

(d) None of these

The gain of an amplifier with
feedback is given by the relation

(a) A/l +BA)
(b) P/ +PA)
() PAL-BA)
(d) A/1-BA)

P.T.O.
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14.

15.

16.

17.

18.

19.

UNEIRET &1 B9 T a1 GG 9 &70ar
AT ?

(a) FT

(b) e

(c) wRmH

(d) =R

EX-OR gate %! H1SLYC Z 47 & a9
Wi T AR 9

(a) Z=A

(b) Z=1

c) Z=0

d Z=2

i T e w3 = 9@ v@h de
T7

(a) JK flip-flop

(b) D flip-flop

{c) RS flip-flop

(&) T flip-flop

T Tz FEE ot e o B woEr
angeye firem &

(a) Inverter
(b) NOREX
(c) ANDEIX
(d) NANDER

femafemm Y=(A+B' +AB)C. Y
T FCEAET &

(a) AC

(b) BC'

© C

(@) T8 HE T

% FoF T & ASSYE JH (S) F H
E;)%Sﬂvfaﬁmﬁﬂaﬁmml
(b) 2=1mﬂma@aﬁ$w1
(c) i:lﬁamﬁwlﬁl
(d) S=1-awfiFEE 18 |

14.

15.

16.

17.

18.

19.

2038

Which class of amplifier has the
lowest efficiency ?

(a) Class A

(by Class AB

(¢) ClassB

(d) ClassC

What is the output Z of an EX-OR
gate, whose all input are set at A ?

(a) Z=A

b Z=1

(c) Z=0

(d Z=2

Which of the following flip flop is
used as latch ?

(a) JK fhp-flop

(b) D flip-flop

(¢) RS flip-flop

(d) T flip-flop

A gate in which all inputs must be
low to get a high output is called

(a) aninverter

(b) aNOR gate

(c) an AND gate

(d} aNAND gate

The Boolean expression Y = (A + B'
+ A'B)C". Y is given by

(a) AC

(b} BC

cy C

(d) None of these

In the full adder, denoting sum by S

and carry by C

(a) S =1 when two or more input
are unity.

(b) C =1 when two or more input
are unity.

(c) C=1 when all the input are unity.

(d) S =1 when all the input are
unity.
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22.

23.

24,

25.

HrE.5 FET 1 Fmior HW & o Ee
foreT wiTT e W avaE el & 0
(a) 4

() 5

¢y 3

(d 7

TS &1 QT A a1 B §1ge § F C #
TRV B ¥

(a) A+B

() AB

(¢) AB

(d) IR A A FE T

frafefaa R weTT 39 IRISE wHE
T E?

(a) & T weita

(b) @ fem wig

(c) T e wAT

(d) ¥R =g g vl

e Ayt T vt T 8 2
(a) 1 oz ot B
(b) 2 &z YErRm 9|
(c) 3 faz vdere 3=
(@) 4z v 9

st i 3 e o A v
t

(a) OR @A AND gates

(b) NOR 1 NAND gates

(c) NOR T AND gates

(d) NAND T OR gates

20.

21.

22

23.

24.

25.

2038

Which of the following component is
used for storing binary information ?

(a) A register

(b) Alatch

(c) A flip-flop
(d) All the above

The number of flip-flop require to
build a mod-5 counter is

(a) 4
by 5
{c) 3
(@ 7

The expression for carry C in the half
adder with input A and B is given by

(a8 A+B

(by AB

) AB'

(d} None of these

Which of the following flip-flop do
not have race problem ?

(a) T flip-flop

(b) D flip-flop

{¢) JKflip-flop

(d) Master-Slave flip-flop

What is a simple flip-flop ?
(a) 1 bit storage cell
(b) 2 bit storage cell
(¢} 3 bit storage cell
(d) 4 bit storage cell

The most widely used universal gates
are

{a) OR and AND gates

(b) NOR and NAND gates
(¢) NOR and AND gates
(d) NAND and OR gates

P.T.O.
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26.

27.

fre e # o AR W TREe e
o T wg S A 2

(a) UHIR g WA

(b) o frerg i

(c) @ e wile

(d) 2 frea g

U WA wEE §F ¥ T 38 W
Tt et s ® foran e €9

(a) D flip-flop

(b) SR flip-flop

(¢) Latch

(d) JK flip-flop

28, & ¥Y¢ ¥ EX-OR T ¥ & fw

29.

30.

foF 7400 IC Y W&t qEat & 2

(a) 1
() 2
) 3
(@ 4

UF 8% T F T & AU B € AT
Y YT Bl ¥ 2

(@) EX-OREXTIrNOR IR
(b)y EX-ORER 41 OR S
(c) EX-OR @4 AND R
(d) Four NAND &R

% K Y qeAe @ e aftemwr o
T QN H WA A g fmar 91 e
L3

(2)
(b)
(c)
(d)

nm b W N

(6

26.

27.

28.

29,

30.

- (b)

2038
Which flip-flop is generally used in
shift register ?
(a) SR flip-flop
(b) JK flip-flop
(c) Dilip-flop
(d) T flip-flop

If one wants to design a binary-
counter, which type of flip-flop is
preferred ?

(a) D flip-flop
(b) SR flip-flop
(¢} Latch

(d) JK flip-flop

The number of 7400 IC required to
make a two input EX-OR gate is

(@ 1

by 2
() 3
d 4

The gate required to build a haif
adder are

(a) EX-OR gate and NOR gate
EX-OR gate and OR gate
EX-OR and AND gate
Four NAND gates

(c)
(d)

Upto how many variable it is wise
enough to apply K-map method
reduction technique ? -

(@ 2
() 3
() 4
(d 5

g




2038 | 20 38

used in
EE201 ROINO. : cevevevnneererennrnen
2016
‘BASIC ELECTRONICS
bIbAY-  prgife W : e | [srfermaw 31w : 70
flop is Time allowed : Three Hours] [Maximum Marks : 70

Fe . (i) e g arfvard & Wiv H @ el wle & I g
Note : Question No. I is compulsory, answer any five questions from the remaining.
(ii) W% go7 & Tt T % HRAR QF T & FAT |
Solve all parts of a question consecutively together.
ired to (iii) T F97 F 73 7T & TR BRI |
Start each question on a fresh page.
(iv) T srrsit & s gl &) Rerfr | s srqar 8t a1

Only English version is valid in case of difference in both the languages.

1. () % Iond RrEt ateger (@ st St weesd |
a half Explain Peak Inverve Voltage (P.LV.) of diode.
Gi) vad®w W a#E wiF sghet amn et § 2

What are half power frequencies in amplifier ?
(iif) e & fere anheTee P Fn BT ¥ 9

What is Barkhausen criteria for oscillations ?
(iv) Fast NAND gate F W4T @ EX-OR gate 182 |

Realise EX-OR gate using NAND gate only.
(v) J-K .o 3 IREes auen o g 87

wise What is Race around problem in J-K flip-flop ? (2x5)
thod > () ok S wgE onfae R H T wf e T e qe o S
' Ui Wi MUAT I |

Explain Half wave rectifier using semi-conductor diode with diagram and derive
the efficiency and ripple factor for it.

(i) EE-A ARRT HaE B SETUIE P GHETE a9 T ot wiw w@ oo SR |
Explain working of Class-A power amplifier and analyse its output power.  (6x2)

@) P.T.O.
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26.

27.

28.

29.

30.

fire e & o |iT W e
e T T By ?

(a) THAR T v
(b) % e weirg
(c) @ e witg
(@) & frT wi

UF T HER TR % e e
frerq vt e o ferar ST & 2

(a) D flip-flop

(b) SR flip-flop

(¢) Latch

(d) JK flip-flop

¥ ¥ ¥ EX-OR 7T TR & R
feram 7400 IC #t wexd apelt & 2

@@ 1

(b 2
€ 3
@ 4
UF TE O H AR ¥ fw ww § e
N FETTH Bl & ?

(a) EX-OR R @41 NOR ZR

(b) EX-ORZR a1 OR TR

(¢) EX-OR @41 AND g1

(d) Four NAND g

TF K A7 e | e afteme o
T I A W ¥ Fwar g
Y]
(a)
(b)
(c)
(d)

hh A W N

(6)

26.

27.

28.

29.

30.

2038
Which flip-flop is generally used in
shift register ?
(a) SR flip-flop
(b) JK flip-flop
{c) D flip-flop
(&) T flip-flop

If one wants to design a binary-
counter, which type of flip-flop is
preferred ?

(a) D flip-flop

(b) SR flip-flop

(¢) Latch

(d) IK flip-flop

The number of 7400 IC required to
make a two input EX-OR gate is

{a) 1

® 2
(c) 3
d 4

The gate required to build a half
adder are

(a) EX-OR gate and NOR gate

. (b) EX-OR gate and OR gate

(c) EX-OR and AND gate
(d) Four NAND gates

Upto how many variable it is wise
enough to apply K-map method
reduction technique ?

(a) 2
() 3
(c) 4
@ 5




